Sample Programming Problem

Junior Division

(First appeared as Contest #2: 1982-83)

Problem:  The cost to ride in the ACSL taxi is $0.50 for the first 1/5 mile and $0.22 for each additional 1/5 mile or part thereof.  In addition, the taxi will wait for you while you conduct your business.  The cost is $0.20 per 60 second period or any part thereof.  

Input:  Four sets of data.  Each set of data contains two non-negative numbers: the first is the number of miles traveled; the second, the number of seconds of waiting time.  The first two sets of data will have zero seconds of waiting time. 

Output:  The cost of each taxi ride.  The dollar sign symbol shown in the League answer is not necessary.

Scoring:  One point will be awarded for each correct answer.  Each answer must match the League’s answer exactly to receive credit.  There is no partial credit. 

Sample Input





Sample Output

     Input Line #1: 1, 0




     Output #1: $1.38

     Input Line #2: 2, 0




     Output #2: $2.48

     Input Line #3: 1.5, 75



     Output #3: $2.44

     Input Line #4: 3.4, 125



     Output #4: $4.62

Test Data Input




Test Data Output

     Input Line #1: 2, 0




     Output #1: $2.48

     Input Line #2: 3, 0




     Output #2: $3.58

     Input Line #3: 4.4, 200



     Output #3: $5.92

     Input Line #4: 14.9, 720



     Output #4: $19.18

